





The Luna 17 spacecraft was launched by which country
in November 1970?

Russia (Soviet Union)

In the British army, which rank is between Lieutenant
and Major?

Captain

Which late British author of ‘A Clockwork Orange’ had a
blue plaque unveiled in October 2012 at Manchester
University, where he studied?

Anthony Burgess

Which E is a North American coneflower used in herbal
medicine, mainly for it's antibiotic and wound-healing
properties?

Echinacea

In the nursery rhyme, who ‘called for his fiddlers three'?

Old King Cole

Architect Sir Horace Jones designed which bridge?

Tower Bridge

The goat represents which sign of the Zodiac?

Capricorn

What is the outer layer of human skin called?

Epidermis

Chlorophobia is the irrational fear of what?

The colour green

What does a Hertz unit measure?

Frequency
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Singer David Bowie was born with which surname?

Sting, Rod Stewart and Bryan Adams teamed up and
had a hit record with “All For Love” in what year?

Which female singer hit the top spot with "Bleeding
Love in 2008"?

Leona Lewis

Which bands first hit was “Whiskey in the Jar”?

Thin Lizzy

Which Band released the single “Ballroom Blitz"?

Kiss, The Damned, UFO or Sweet

Who sang a duet with Elton John on “Don't Let The
Sun Go Down on Me”?

George Michael

Which European band released the album ‘The Joshua
Tree' in 1987?

How many violins are in a string quartet?

Complete the title of the 2007 No.1 hit "Hey
There...."? Delilah, Samson, Nancy, Ruby

Delilah

Who is the lead singer of British rock band the Stone
Roses?

lan Brown
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